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Defence and Strategic Studies

Paper II
TT UG AHReh 31eq9A
gyutent 11
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT @ A1 TRAUCThd THY TR (100) TgHaE WA fRen ofed. Tod TR g (2)
o7 SR, WE TR e

1. Where is the Headquarters of | 1. ‘AR’ o1 A= Y@ HMEE Hic

NATO ? A ?

(A) Berlin (A) =i
(B) New York (B) AT
(C) Brussels (C) oo™
(D) Paris (D) w09

2. When did India proposed | 2. 9RAM TIF USE T L-eeid

Standstill Agreement’ at the United st TSE SeE O Bel 2

Nations ?

(A) 1955
(A) 1955

(B) 1956
(B) 1956
(C) 1954 (C) 1954
(D) 1957 (D) 1957

3 [P.T.O.



The International agreement
between countries that provides a
complete framework for the
establishment, maintenance and
termination of diplomatic relations

between sovereign states is called :

(A) Geneva Convention

(B) UN Declaration of Human
Rights

(C) The Vienna Convention

(D) The International Treaty

Organisation

Which of the following countries are
members of BIMSTEC ?

(A) Thailand

(B) Myanmaar

(C) Nepal

(D) All of the above

What is peace-keeping activities ?

(A) The UN Monitoring of ceasefires
and separating combatants

(B) The UN bringing combatants to
negotiation

(C) The UN observing the ceasefires

(D) The UN bringing the nation

states to negotiation
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Who coined the term ‘“’Narco-

terrorism” ?

(A) Kenneth Waltz

(B) John Mearsheimer

(C) Fernando Belaunde Terry
(D) Robert Keohane

Who has written the book “The
History of the Peloponnesian
War” ?

(A) E.H. Carr

(B) Thucydides

(C) Hans J. Morgenthau

(D) Machiavelli

What is counterforce strategy ?

(A) Nuclear missiles aimed at the
enemy’s missiles rather than at
its population or industrial

centres

(B) Nuclear missiles aimed at the
enemy’s population rather than

at its missiles installation

(C) Nuclear missiles aimed at the
enemy’s economic centers

rather than at its population
(D) Nuclear missiles aimed at the
enemy’s Commerce Capital
rather than at its Industrial

Centres

8.
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10.

11.

Who founded Lashkar-e-Taiba ?
(A) Hafiz Saeed

(B) Zafar Igbal Shehbaz

(C) Naib Ameen

(D) Muhammad Yahya Mujahid

India conducted nuclear test the so

called Pokharan-I in the year :
(A) 1974
B) 1976
(C) 1998
(D) 1999
What is

the strategy of

bandwagoning ?

(z) To outsource its security to the

regional or global hegemon

(i) To resist regional or global

hegemon
(i11) To extract benefits
(A) All three are correct
(B) All three are wrong
(C) Only (i) and (i) are correct

(D) Only (i) and (iii) are correct

9.

10.

11.
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12.

13.

14.

What is not included in internal

security ?

(A) Prevention of illegal activities

within borders of the country

(B) To prevent activities that are

detrimental to the security of

the country

(C)

Maintaining law and order
(D) Protection of Foreign Affairs
Brahmos is :

(A) a cruise missile

(B) medium range air-to-air missile
(C) antitank missile

(D) beyond visual range missile
Star wars and NMD is violative
of :

(A) Outer space treaty

(B) ABM treaty

(C) MTCR

(D) SALT

12.

13.

14.
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15.

16.

17.

18.

What is the popular name of

Strategic Defence Initiative

(SDI) ?

(A) Star wars

(B) Earth wars
(C) Maritime wars

(D) Ocean wars

The host Government for the
conference on a “WMD Free zone in
the Middle East” is :

(A) USA
(B) Finland
(C) Egypt
(D) Norway

What is the only state to have
withdrawn from the NPT ?

(A) Australia
(B) Syria

(C) Iran

(D) North Korea

Warsaw Guidelines (1992) of the
NSG refers to :

(A) Fullscope Safeguards

(B) Facility Specific Safeguards
(C) INFCIRC 66

(D) INFCIRC 540

15.
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18.
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19.

20.

21.

What type of technology does the
Wassenaar arrangement primarily

control ?
(A) Nuclear technology

(B) Conventional arms and dual

use goods and technologies

(C) Chemical and Dbiological
technology

(D) Missile and UAV technology
India joined the Missile Technology
Control Regime (MTCR) in the
year :

(A) 2016

B) 2007

(C) 1998

(D) 2011

Nuclear Non-Proliferation Treaty

(NPT) entered into force in which
year ?

(A) 1970

(B) 1965

(C) 2001

(D) 1968

19.

20.

21.
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22.

23.

24.

Which two countries initiated
bilateral negotiations on restrictions
on their strategic nuclear arsenals

and in which year ?

(A) India and Pakistan, 1971
(B) China and USSR, 1960
(C) India and China, 1962
(D) US and USSR in 1969

Whom World Trade
Organisation (WTO) report to

does

annually on its efforts to achieve

trade specific targets in SDGs ?
(A) President of America
(B) Chairman of WTO

(C) UN’s High-Level Political
Forum (UNHLPF)

(D) Secretary General, UNO
Which is the United Nations (UN)

agency that assists and safeguards
the rights of internationally

displaced persons ?

(A) UN-IDP

(B) UNHCR

(C) UN REFUGEE Convention
(D) UNDP

22.

23.

24.
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S
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(A) wa emfor wifsh&a, 1971

(B) = amfol UH.TH.SR., 1960

(C) 9ra 1o =iH, 1962

(D) 4.ud. 01 JTH.CH.SN., 1969
SR =AMR Fe2 (WTO) SDG Helie
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(A) UN-IDP

(B) UNHCR
(C) UN REFUGEE Convention

(D) UNDP
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25.

26.

27.

When was the Comprehensive Test
Ban Treaty (CTBT) seeking to ban
all nuclear weapon tests opened for

signature ?

(A) 1 January, 1946

(B) 1 May, 1994

(C) 24 September, 1996

(D) 31 December, 2000

When the SDG were accepted ?
(A) 10 January, 2000

(B) 20 June, 2012

(C) 17 September, 2015

(D) 30 September, 2013

38th parallel or latitude 38°N is the
line that demarcates between which

two countries ?

(A) China and Taiwan

(B) India and China

(C) Pakistan and Afghanistan

(D) North Korea and South Korea

25.

26.

27.
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28.

29.

30.

How many countries are included in
the Central Asian Republics
(CAR) ?

(A) Six

(B) Ten

(C) Five

(D) Eight

Which Indian law primarily

deals with the crime of money

laundering ?

(A)

Procedure Code

(CrPC), 1982

Criminal

(B) Constitution of India, 1950

(C) of Internal

Security Act (MISA), 1975

Maintenance

(D) The Prevention of Money-

laundering Act, 2002

Which day is observed as

International Migrants Day ?
(A) 1 January

(B) 18 December

(C) 13 May

(D) 15 August

28.

29.

30.
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ey SfYTE yeeeRiaed fohdl Qu
HHIfase a8 ?

(A) w&

(B) <=l

(C) [r=

(D) 18
IV AR hAQ] GrHEA HAl-

ST e o 2

(A) WISERT fwar Gfgar, 1982
(B) YR Hfaem, 1950

(C) e GR&T SEe 1Rl (HiE),

1975

(D) wH-ffgn wfaay wEer, 2002

T foag AT Treraid ()

fqay WUE e hell STl ?
(A) 1 SHad

B) 18 fedisr

(C) 13 =8

(D) 15 AT
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31. When and where did India conduct

its first nuclear test successfully ?

(A) 1st January, 1950 at Thumba

Rocket Launch Facility

(B) 18th May, 1974 at Army Base,
Pokhran Test Range (PTR)

(C) 3rd May, 1998 in Rajasthan

(D) 26th June 1975 at

Kanyakumari, Tamil Nadu

31.
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AT ufgell IR0l heal MU S
et ?

(A) 1 SHard, 1950 g/ {ehe -4
THHelet

(B) 18 |, 1974 H 99, UERT &
=

(C) 3 H 1998, T=RYM

(D) 26 1, 1975 HARAN!, THIEATS

32. The infrastructure project that links 39, AR T S e S A
Gwadar and Karachi ports in
Pakistan to Xinjiang Uygur T S8R &P 9a (XUAR) &1
Autonomous Region (XUAR) is SIS qETYd a9l Jehedrel &
called :
BT ?
(A) Gwadar-XUAR Link Project ’
(GXLP) (A) TEEXUAR foier g
(B) China-Pakistan Economic
Corridor (CPEC) (B) M-WITeh& SHRMIHES HINSK
(C) PORT to Mountain Project (C) T 2 WERA deEe (PTMP)
(PTMP)
(D) Sagarmala Project (D) WRTRATET Hio(Fe
13 [P.T.O.



33.

34.

35.

With a view to put India in a more
“Proactive regional position” one
Indian leader announced a new
project (in Hanoi). Name the leader

and the project :

(A) Atmanirbhar
Narendra Modi

(B) Sushma Swaraj — Act East
Policy

(C) 3 Trillion Economy — Dr.
Manmohan Singh

(D) Multilateral Approach — Dr. S.

Jaishankar

Bharat

Identify the treaty between East
India Company and Nepal signed on
1816 :

(A) The Boundary Treaty
(B) Treaty of Sugauli
(C) The Treaty of Susta

(D) Indo-Nepal Treaty of Peace and
Friendship

Battle of Longowal fought during

the war of ...............
(A) 1948
B) 1962
(C) 1971
(D) 1999

33.

34.

35.
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(A) 1948

(B) 1962

(C) 1971

(D) 1999
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36.

37.

38.

39.

Minabao and Khokharapar border is

in between :
(A) Gujarat and Sindh
(B) Rajasthan and Sindh

(C) Indian Punjab and Pakistan

Punjab
(D)

Jammu Kashmir and Pakistan

Punjab

Chakama refugees came to India

(A) Myanmar

(B) Bangladesh

(C) Tibet

(D) Sri Lanka

Who is the first National Security

Advisor of India ?

(A) K. Subrahmanyam

(B) Brajesh Mishra

(C) KP.S. Gill

(D) Ajit Dobhal

Gwadar Port of Pakistan has

36.

37.

38.
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(A) Toa et faeg

(B) USEgE smfn fay

(C) 9 Yoe A0 UTfeRsar OeiTe

(D) S HIHR SO AR I
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T ?

(A) =R

(B) SR

(C) e

(D) sfretet
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(A) =. o=
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40. Which terrorist organisation not

41.

42.

based in Pakistan ?

(A) Lashkar-e-Taiba

(B) Jaish-e-Mohammed
(C) Al Badr Mujahideen
(D) JKLF

What is
@

(it) It aims at providing wide range

“Positive Peace” ?

It goes beyond law and order.

of welfare services.

(zi7) It aims at creating a Police
State.

(A) All three are correct
(B) All three are wrong
(C) Only (i) and (i) are correct
(D) Only (i) and (iii) are correct

Which statement is not true about

“Structural Violence” ?

(A) Difference between actual and

potential is structural violence

(B) Justification of violence on
cultural ground is structural

violence

(&)

Subject-object-action is not

easily discernible

(D) Actor or perpetrator of violence

cannot be easily identified

APR - 16224/I11—B

40. HIVEl TEIEAE] HHSAl U

41.

42.

Hafgd A& ?

(A) TTSRT-T- Tl

B) SI-T-HEHT

(C) o1& &8 HMMee

(D) ¥.%.TdA.TH.

HHhNIHe  IMaal WUl g 7

(i) TTEST 3N A=A Yellheld
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43. Which among the following is not 43. QR B T ¥ gerEeiee’
an Intergovernmental Organisation .
(1GO) ? W T 2
(A) United Nations (UN) (A) TS I
(B) International Monetary Fund 5
(IMF) B) TR WS T
(C) Amnesty International (C) STl s=GIed
(D) World Trade Organisation R S
(WTO) D) == % |
44. Gandhian Satyagrah : 44. T T R :
N o () Taar el wevamE fafise
(1) 1is a pacific means to settle .
. WA A R
disputes
(i) eUSl HH fagery s T eee
(i) believes in the end justifies
! =Y fHeser=
means ~ 5 n
(iii) faame fenrel SevarErdt e e
(i) believes in the close connection e & .
T TeRTal A | edl FeY 3T
between means and end P— >
(A) All three are correct (A) frdr T e eTRd
(B) All three are wrong B) = 7= I I
(C) Only () and (ii) are correct (C) T (§) M0 (i7) s=R 3
(D) Only (i) and (itzi) are correct (D) ®F () ST (j57) SRS T
45. Which are not the methods of pacific | 45. ydietiet =ivdt vga faere e
settlement of disputes ? FRUANN Getod Ael 7
(A) Arbitration (A) =hdR
(B) Negotiations (B) HaE SRRl ==
(C) Mediations (C) memreeft
(D) Military intervention (D) TR{ BEIET
17 [P.T.O.



46.

47.

48.

Who gave the concept of ‘Center and

Periphery Nations’ ?

(A) John Galtung

(B) Stephen Cohen

(C) Henry Kissinger

(D) Barry Buzan

What is Peace Education ?

(A) To cultivate a culture of peace

based on human rights

(B) To teach about negotiation
processes in the contemporary

history
(C) To teach about military tactics
(D) To study the history of warfare

The human rights was adopted in
Universal Declaration was in the

year :

(A) 1776
B) 1948
(C) 1795

(D) 1947

46.

47.

48.

APR - 16224/I11—B

I ST TR qeLET Tehed T JereTeh]

HIT WESA 2

(A) S TR

(B) wIHA ®IEH

(C) &I fepfa=r

(D) & g&a

yaar fgor wS w2

(A) 3TMaa FERdET U@ B OHAS
SAfeeRER. aeia &

(B) ThIEA Ufqeldeh hiei@ e 9ag
AR == Aere e <o

(C) &yl eatememEd ferem 30

(D) TfaRos HerEeRia ol
HAAE 0

AT goRRT STaaAT STedAr==t S

JEIcTdeh! ShIUIT N1 0T Tt ?
(A) 1776
(B) 1948
(C) 1795

(D) 1947
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49.

50.

51.

Malnutrition is an example of :
(A) Cultural violence

(B) Physical violence

(C) Personal violence

(D) Structural violence

Which among the following is a

service provider group ?
(A) Amnesty International
(B) Human Rights Watch
(C) Red Cross

(D) Greenpeace Movement

Which forest area has largest forest

fire reported during 2019 ?

49.

50.

51.

APR - 16224/11—B
FHATUE AR
(A) Hiepfas feamm

(W ~*

(B) ISR TgH=N

(C) =fmue feamR

(D) IEF feuEr

WU I FaT M IR e
I

(A) LT geRE

(B) HFa fuehR af=

(C) T #H

(D) WU HaHe

2019 T Eciieldsh! shivred ToehTol ST
AR S (ST ) Higal WHIITeR
THEE ol ?

(A) Kanha
(A) =Tl
(B) Kaziranga ®) FEAET
(C) Bandipur (C) Bl?ﬁ'ﬂ'{
(D) Gir (D) fr
52. Which of the following gas leaked | 52. «irel Jefie Hq IoEd v AR
during Bhopal gas tragedy ? 1S M
(A) Potassium cyanide (A) TEfFem TwEAEe
(B) Methyl isocynate B) THuEd AFEMEEH
(C) Phosgene (C) g™
(D) Hydrogen cyanide (D) TISSH HEAES
19 [P.T.O.



53.

54.

55.

56.

Which place was most affected by
massive flood in Uttarakhand in
2013 ?

(A) Ramabara
(B) Gaurikund
(C) Sonprayag
(D) Narayankoti

Who chaired the National Disaster
Management Authority ?

(A) President

(B) Prime Minister
(C) Home Minister
(D) Defence Minister

Which toxic gas is known as ‘the

king of the battle gases’ ?

(A) Phosgene

(B) Mustard

(C) Lewisite

(D) Sarin

State Management
Authority of Maharashtra headed
by :

(A) Chief Minister
(B) Home Minister
(C) Minister of

Management

(D) DGP of Maharashtra

Disaster

Disaster

53.

54.

55.

56.

APR - 16224/I11—B

2013 #Ed ITUEE ALY S HETYI
(STAYE) STl &a Fald SR e
HIve fehon et ?

(A) THTERT

(B) R%He

(C) HAYEm

(D) FANEUTERLE

TS AR STaEeds & JErerdeh]
IV ATl HERG $9d ?
(A) Tzt

(B) daye™

(C) TRwsit

(D) &

WCATeTish! 10Tl Sfadish 19e, &
STITEAT SO THAT e el
U ?

(A) HESH

(B) W=

(C) wifadrse

(D) A

HERTSETIATE AsFqTdesayd  ATu<i

ST TIATaTedd  STTIHR eraTdhi

ST SYTIETel 3/ 2

(A) HemE
(B) TR

(C) STURIt =HEEae H3l

(D) HERTZ T SRERR SRe ATh

ElGiEs]
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57.

58.

59.

60.

Name the relief operation launched
by Indian Army in the wake of
heavy rain in Uttarakhand during
June 2013 :

(A) Operation ‘Rahat’

(B) Operation ‘Raksha’

(C) Operation ‘Surya-Hope’
(D) Operation ‘Indra’

Which area of India is more

vulnerable to Cyclones and

Tsunamis ?

(A) Northern India

(B) Eastern-Northern India
(C) Central India

(D) Entire Coastal Area
Which is the disaster capital of
India ?

(A) Delhi

(B) Chandigarh

(C) Odisha

(D) Indore

When Wilbur and Wright brothers
made the first mechanical flight and

created the aerial age ?

(A) on 17 December, 1903
(B) on 27 December, 1903
(C) on 7 December, 1906
(D) on 17 December, 1899

57.

58.

59.

60.

APR - 16224/I1—B
2013 7= TrEeRw ‘f sifagel !’

FTEITaT IIATT BAEAT TeOfaeh
GYTEATAl Hed LA S HEH
qafaelt o Jeretush! shIvre e aifed
AR ?

(A) SOl TR

(B) AT @M

(C) HATRTE YATRM™

(D) SREA T3

ATl oA &5 & HFhallo AT
fegAT=n gfeshAA Sa Hiehareh
Med ? T qaE faer

(A) W ¥R

(B) TE-SW W4

(C) 99 9d

(D) |yui wqz T

TRATAe I Hataq TSer ®io
o ?

(A) feeedt

(B) <ElTe

(C) @i

(D) T=R

fareter &T1T Tee iy A foramr=h afee]
Tk ISSTU hegl hell ST gaTs el
H&ard hell ?

(A) 17 fe=Rr, 1903

(B) 27 fed=R, 1903

(C) 7 fed=r, 1906

(D) 17 fedsr, 1899
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61.

62.

What is ‘Resource curse’ ?
@) A

economically despite being rich

country underperforms

in natural resources

(z1) British economist Richard Auty

coined the term ‘resource curse’

(i11) African countries are victims of

‘resource curve’
(A) All are correct
(B) (i) and (ii) are correct
(C) (@) and (iii) are correct
(D) All are wrong

What were the purposes of Marshall
Plan of 1947 ?
(1) To prevent expansion of

Communism in Europe
(i) To reconstruct the economies of
Europe destroyed by the Second
World War

Marshall Plan failed to check

expansion of Communism in

(tii)

Europe
(A)
B)
(C)
(D)

All are correct
Only (i) and (ii) are correct
Only (ii) and (iii) are correct

All are wrong

61.

62.

APR - 16224/I1—B
HHEA MU WS wE 7
() WEAHUREET 9 SHd S 5T
STfYfehgs=al AR
Gi) fodter srefay fme &= =it R

FITE] FHedT HSdl.

(iii) 3TWhieh TS THTHH TMIA a6
TSl SR

(A) o wor siiet Tt 31ef sier 3T

B) @) 0T (i) SR A8

(C) (i) &0 (i1i) == 3118

(D) Ha 31e/farau I e

1947 wefitet Ofeiar wiT= fafay &g o

e ?

() JUUAL AR THRIE IRE
T

(i) T RIS AT STeeeee=

SOART Hel Bl RUE A
FfFERIT qAESSiEad hdT

(i) FUIHHIE AHART=A1 TR URIeg
ST HiYE T STIERl Sl

o o

(A) T Tl
(B) ®eR (i) ST (i7) SRR e

(C) el (i) =0T (3i7) SEL 3=
(D) T/ fagau ge-19 Tehi 3Ted

319 S 3R
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63.

64.

What is “Scorched Earth Policy” ?

(z) A military strategy of
destroying everything before
retreating to prevent its use by
enemy forces.

(z1) A military strategy of denial of

natural resources and

infrastructure to invading army

(zii) It aims at crippling the war
fighting capacity of the enemy
army.

(A) All are correct

(B) Only (i) and (ii) are correct
(C) Only (i) and (iii) are correct
(D) All are wrong

Who were the Defence Minister of
India during Sino-India War
1962 ?

(A) V.K. Krishna Menon and
Baldev Singh

(B) V.K. Krishna Menon and
Yashwant Rao Chavan

(C) Kailash Nath Katju and Baldev
Singh

(D) Baldev Singh and Jagjivan

63.

64.

APR - 16224/11—B
ThIREe AY el WU g ?

0 B THeed wos

(i7) T HIOAE] GRRE] HETHI
g 73, Fed A @l =
MRS Fv2 HUAT- AT
TS

(i2i) I AT gF HITATE &7 T
H T T Y THeliedl €SN
AT Hifes

(A) wd fodt a1edf seR etmed

B) R (i) 0T (i) R TR

(C) WeRl (i1) AW (j1i) SR &

(D) W= o 3Ted

1962 =41 WRA-=H JHTa A= HL&T0
o § e
(A) o, FOHT o seiea fam

(B) .o FETHTA 0 ALEAqS A0l
(C) HhemaTg wEs o geed fam
(D) wera o snfor SETsfas ™

Ram
65. The theory of Lebensraum as tool 65. fasmger=T fagr & Wy ¥Rone T
of foreign policy is referred to : | Bq—ArE g free
(A) Military Diplomacy (A) Treftedi T
(B) Living Space (B) foa=gm g
(C) Scientific Temperament (C) WE=IhH TR
(D) Cultural Diplomacy (D) he=td TewiH e
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66.

67.

68.

The term Autarky refers to :

(A) Economic self-sufficiency

(B) Economic interdependence
(C) Arms Trade

(D) Defence Technology
According to SIPRI year book 2023,

the US remained main exporter of
Major Arms during 2018-22 with a
global share of :

(A) 40%
B) 50%
(C) 60%
D) 65%
The Kaladan Multi-modal Transport

Project of India consists of which of

the following ?
(1) Sea

(2) River

(3) Railway
(4) Road

Select the correct answer using the

codes given below :
(A) (1), (2) and (4) only
B) (1), (3) and (4) only
(C) (2), (3) and (4) only
(D) (1) and (2) only

66.

67.

68.

APR - 16224/11—B
sferenl 21 IeErael Yeierdeh! ehIvmett
qafyd afg ?

(A) enfefs Taaes/Egor
(B) oTf¥fe TREREes
(C) &M AR

(D) fehm TS
2023 =1 TqUfi T3NFFTAR, 2018-22 A1
HOEed U I Faiame

T ST BT AT ST 29 § SR —
I g feEer

(A) 40%
B) 50%
(C) 60%
(D) 65%

YRATH] Thellal HeerHied SIae Yk
§ Wil SR Hafd e ?
(1) TR/ET

2) &

(3)

4) T

arel feced Ainfae wEEie o
-q-q-i_q ﬁlﬂ?{[ §

(A) =R (1), (2) AT (4)

B) e (1), (3) 30 (4)
(C) FF (2), (3) 371 (4)
D) s (1) 301 (2)
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69.

70.

71.

The term ‘Logistics’ refers to :
(A) Communication Network
(B) Supply Chains

(C) Mobilisation of Finances
(D) Army Recruitment

The discipline of ‘Defence Economics’

focuses on :

(A) Allocation of National

Resources for National Security
(B) Defence and Foreign Affairs
(C) Military Education
(D) Strategic Culture

“Different phases in the life of a
particular technology” is called

as :
(A) Technology Life Cycle

(B) Extension of Technology
(C) Technology Upgradation

(D) Application of Science

69.

70.

71.

APR - 16224/11—B

XSSl SHATUIA § Yacl] Jaiel hivred]
TRl Helgd e ?

(A) FRFHIA Aedh

B) =A™ =F

(C) eSSy % HEad
(D) et Repede

et SAefve R fersden wWeuta
EIeTueh! IV SRS Hafed T ?

(A) TS AAE! T FETEai=]
et
(B) fe®w 3 HIRA AH3™

o Lt e

(C) Taefiell Ty

(D) Wh Hea

fafsre demm= weEen fafay =@
IA E JEAIH T Ad

(A) THTAST AEE HEH

(B) TSN 3% eFTArS

(C) AT TEYH

(D) SAwileheH 3 HEH
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72.

73.

74.

If a nation aspires to develop a
major regional and global influence

then what it needs ?

(A) It needs to have modern

military capability supported by

sound techno-economic
capability

(B) It needs only economic
capability

©)

(D)

It needs no capability

It needs internal socio-political
capability only

When “Economic liberalization” in
India took place ?

(A) 1990

B) 1991

(C) 1992

(D) 1993

The notions of most of the nation is

that the last guarantee of security

(A) Artillery weapon
(B) Nuclear weapon
(C) Biological weapon

(D) Chemical weapon

72.

73.

74.

APR - 16224/I11—B

SR TEEN Ul "El Yeies ot
ST T9E e aa wivaml so31 3 d

W HUA! AR e ?

(A) TAIH-TYF &THHE  STengfTa
TSRl &7

(B) Wad oTifYer &mHal et uifes
(C) IVl &l TS el

(D) 3Tdd Tdesial |THI ST —STeh 14

&IHdl

A SUH SERIHLOM=AT HIHHHE
TTeedsht I TSI A
et ?

(A) 1990

B) 1991

(C) 1992

(D) 1993

3TYeh ST ST Sheu o1 fof gRar
Afqw vedl WU
(A) SRR 994

(B) —ehelleR 994

(C) wFFArSTeha 994

(D) &Hweg I
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75.

76.

When MIG project was transferred
from the then USSR to India ?

(A) After 1947-48 Kashmir
Operation

(B) After 1962 Chinese Aggression

(C) After 1971 Indo-Pak War

(D) Before independence

The abbreviation HIMAT stands

75.

APR - 16224/11—B

o fomm Scaeehal Wehed  IeTETEREA

URAT <hegl BT H{vad el ?

(A) 1947-48 TITHR SNRIA TR

n_n

(B) 1962 == IMHHUTHG

(C) 1971 =M YRT-Th JFHR

(D) @Y

76. TA.AF.TA.LI. o TgH HABH/

for : qUREEd JEIeTIH TR
(A) Highly Made Tactical Weapons .
(A) B He ZHRIhd 904
(B) Highest Manufacturing
Technology (B) TEE-RIIha=i el
(C) Highly Manoeuvreable Aircraft (C) Bl RI3Rae TIGhIT SFHTaArst
Technol Vehicl
echnology Vehicle S
(D) Height Made Technology
_ (D) B2 A THTarsT =EHe
Vehicle
, 77. K-15 9T § GErardenl Sived
77. K-15, SAGARIKA is a : .
gUoTEel Fefad e ?
(A) SLBM
(A) TH.UA.S1.TH.
(B) SRBM
(B) UH.3TR.E.TA.
(C) ICBM (C) st .
(D) IRBM (D) 9. 37 TH.
27 [P.T.O.



78.

79.

80.

Which organisation has partnered
with the Headquarters, Integrated
Defence Staff for joint research in

defence technology ?

(A) CSIR

(B) ISRO

(C) MOD

(D) DRDO

Which of the following is the

common language in Artificial

Intelligence ?
(A) Python

B) Java
(C) Lisp
(D) PHP
Which is

technology being

incorporated into soldier's clothings,
that would automatically hide the

soldiers presence ?

(A) Chameleons Technology
(B) Bio-Camouflage Technology
(C) Weaving Technology

(D) Hide and Seek Technology

78.

79.

80.

APR - 16224/I11—B

ATl Haeeh! e fehs W=

~

SRV K
Y WeEE &% Ifesd ?
(A) 41.UY.379.3T.

feh S=ATalSioR. hIvd T

(B) M. TH.3TR.3.
(C) TH.3M.EL.
(D) fe.3m.Etr.3.

fa o

AR SlclSaAed A0

(a = La

REIGEED
Sl ?

(A) 9EgF

4

& b S
hITTHT HTSET Tl Sh el

(B) S
(C) Toreg
(D) Wr.U=..

eretish! 3 UG TAAH e TR W
HfTeT=a TSRS, ST 206l ST
T Toh “oHes I IEleT fSHuIR Al YAl
TSI oY bl ?
(A) FHEAISH TSIt

(B) wMEI-shHGAS TS

(C) f=fam Tmfars

(D) TEE 3= "k s
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81.

82.

83.

84.

Operational Commands in Indian

Air Force are :
(A) 6
B) 7
C) 4
D) 5

Which one of the following is not
part of the Human Security
Discourse ?

(A) Freedom from fear
(B) Freedom from want
(C) Resource scarcity
(D) Defence expenditure

What differentiate between the
notions of STATE and notions of
NATION ?

(A) Territory

(B) Sovereignty

(C) Political integration

(D) People and Government

Which one of the following is not a

factor of “Nuclear Deterrence” ?
(A) Communication of Power

(B) Credibility of Power

(C) Membership of United Nations

(D) Rationalisation of National

Power

81.

82.

83.

84.

APR - 16224/11—B
AT TS S fohall SR HArFSH
#Rd ?
(A) 6
B) 7
C) 4
D) 5

qEcTden] IVl AME! YR Hehed-d
v AT ?

(A) AT A

(B) TRSTIRHA T&Ta=

(C) THTEAT AT

(D) TEU WY

e 0T TS A GeheuTl Welerdeh]

IV STTHNEAL STy CU?W‘#CIICI ?

(A) U<
(B) GreiHE

(C) TS Thisll (TH)
(D) @ ST SIwEA

ETeeTdh] HIvEr Sewk g fraw
e geifad A 2

(A) HEFHIA A® dlaR

(B) Tweifeetiel sfff dfer

(C) TeRfTy #ifh RS A9

(D) TEEESYE Ah T Hie)
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85.

86.

87.

88.

When the subject “Defence and
strategic studies (Initially as
Military Science)” was started in
Maharashtra ?

(A) After 1962 War

(B) After World War 1
(C) After 1971 War

(D) After 1857 Revolution

Sistan and Baluchestan Province is

situated in :

(A) Pakistan

(B) Iran

(C) Afghanistan

(D) Tajikistan

Who the

popularised the notion of ‘Industrial

among following

military complex’ ?

(A) President Eisenhower
(B) Raymond Aron

(C) Paul Kennedy

(D) Robert McNamara

The origin of the modern nation
state system is associated with one

of the following :

(A) Congress of Vienna
(B) Treaty of Utrecht
(C) Treaty of Westphalia
(D) Paris Agreement

85.

86.

87.

88.

APR - 16224/I11—B

HEWISZI EI&T S0 WA
(gEaTdran S=afam) 1 forve e
AT el ?

(A) 1962 =1 MW

(B) dfgear FRGH®

(C) 1971 =1 FFHR

(D) 1857 =AT FSH®

fowam enfor seffesm wid qeierient
IV IIMET 9T A8 2

(A) HifeREH

B) A

"oyt - gEden W AT
Y YeIeTyeh! IR Fafad STE ?
(A) ®hE oftw feuen

(B) Fere Tt

(C) Te21 3% J=whretten

(D) W siHe
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89.

90.

The book ‘The Geography of the

Peace’ is authored by :

(A) AT. Mahan

(B) Nicholas John Spykman
(C) Karl Houshofer

(D) Friedrich Ratzel

Match the countries with the year

in which they conducted nuclear

tests, given in Table I and II :

Table-I Table-II
(@ Soviet Union (i) 1960
®) UK (i) 1964
(¢) People’s Republic (i) 1952
of China
(d) France (iv) 1949
Codes :
@ ® @© @
A) Gv) Gi) G 6
B) ) G G Gii)
©) Gv) G) GiD) G)
D) @) Gi) ) 6

89.

90.

APR - 16224/11—B
RS (e ol R R | e T G |
WEE H R ?
(A) T3 "M
(B) frre™m §H RS

(C) whid BIMHT
(D) %eim =

Tl Jooduil A

ad-1

eae-11

(@)
b)) I
(€ =M
(d) W
Hehdih :
(@ ()
(A) @v) (i)
B) @& @)
(C) () @)

D) @) @)

Hifegad Jia

(@) 1960

(i) 1964

(ii2) 1952

(Tv) 1949

(c)

(d)

@) @)

(v) ()

@) @)

(tv) @)
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91.

92.

93.

Native name of Military Thinker

Sun Tsu was :

(A) Sun-Tao

(B) Sun-Zu

(C) Sun-Wu

(D) Sun-Ma

launched

Pakistan’s army

‘Operation Ababeel’ for the territory

(A) Baloochistan
B) FATF

(C) Kashmir Valley
(D) Siachen Glacier

‘Look East Policy’ of India launched
by the Govt. of India led by the

former Prime Minister

(A) P.V. Narasimha Rao
(B) Manmohan Singh
(C) Atal Bihari Vajpayee

(D) Indira Gandhi

91.

92.

93.

APR - 16224/I11—B

YA W asRd faemEdre S
(shigforh) el B

(A) gI-aisd

B) g1-g

(C) g9

(D) gA-w1

it T ¢ efE eTaea
EEHerdeh] hITe JUSEE e auad
e ?

(A) sgfea

(B) THTATH

(C) HRHE @R

(D) o= femeis

AR HERRA e S diferell’ Eefterien]
ST FATHT= ShiehTa e o

et ?
(A) M= REERE
(B) e HREA o

(C) o2 Tomrd arso=

(D) 3= e
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94.

95.

96.

Carl Von Clausewitz belongs to the

country of .............
(A) Prussia

(B) Russia

(C) Germania
(D) Macedonia

Find the correct ascending
chronological sequence of the

following thinkers :

(A) Haushofer, A.T. Mahan,
Mackinder, S.B. John

(B) S.B. John, Mackinder, A.T.
Mahan, Haushofer

(C) A.T. Mahan, Mackinder,
Haushofer, S.B. John

(D) Mackinder, S.B.
Haushofer, A.T. Mahan

John,

Who said, “Spies are the most
important element in war because
on them depends an army’s ability

to move ?”

(A) Kautilya

(B) Jomini

(C) Sun Tzu
(D) J.F.C. Fuller

94.

95.

96.

APR - 16224/11—B
Fid RBMA FASALS § HI0CAl ILMLN
eferd ofed ?
(A) wiern
B) W
(C) SN
(D) HehelTan
fearaarar At Fgcdl
FIAHATER HH @l :
(A) BIIHL, T HeM, Hfehey, TH.4.

o

SIE|

~
elletlad

(B) wa.sl. W1, Wfewsy, I HEM,

(C) W3l HgM, Hihs, gIHL, TH.I.

o

SIE|

(D) Hfehey, THsl. o, gL, Tal.
LR

‘g5 wEEAdE @’ § TH
¢ o
Tecolqul Hesh 378 HR M ST

FE feeie Wiied= SeNeRE J=re
YIRS THIOT 0T &THdT STEd
X faum =it & w7

(A) =ffeed
B) <A

(C) g
(D) STFH. TR
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97. Match the strategic thinkers with

their respective area of war doctrines
on the basis of the following List I
and List II :

List 1

Clausewitz

(@)

(b) Douhet

Marx

(c)

(d) Fuller

List II
(1) Air Power
(it) Mechanised Warfare
(zii) War as an instrument of Policy

(fv) Social Revolution
Codes :

(@ ) @ @@

A @O @)
(B) (v) @)
© @

(itd)

D) @) @)

@) ()
@) @)
@ (@)
() (@)

APR - 16224/I11—B

97. TR ToamEdRi <= wdiEd IS

fagart Jeaot + -
-1
(@) AT
b) ae
(c) e
(d) TR
qT-11
(i) TR TER
(i) = I$
(i) I5 © 9RUE HWEA
(iv) WIS hid!
W :
(@) (b)

() ()

A @ @)
(B) (v) i)
€ @

(ii2)

D) @) @)

(@) ()

@ @)

@) (@)

(tv) (1)
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98.

99.

100.

J.F.C. Fuller was called by his nick

name of

(A) Boney
(B) Coney
(C) Loney
(D) Toney

‘A captain who taught the Generals’

is associated with whom ?
(A) Douhet

(B) Liddell Hart

(C) Mitchell

(D) Mackinder

‘Das Kapital’ written by Karl Marx
and first time published in the year

in Hamburg.

(A) 1861
(B) 1863
(C) 1865

(D) 1867

98.

99.

100.

APR - 16224/11—B

... HeR § SIelTeh] o] g
(TE=) A& Helleed S o ?
(A) S

B) =il

(C) =m

(D) 2t

‘TH I FEd fE W SE’ o
frrfael & et SRt Fataa
e ?

A) =

B) fafes &

(C) fasr

(D) Hfeh-et

[V S S

FTd 7 I fafeeen ‘@ Sfges’
BT T ULHT: ShIve] 6] YehlfITd Shivand
M ?

(A) 1861

(B) 1863

(C) 1865

(D) 1867
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